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SECTION A — (10 x 2 = 20 marks)
\ Answer ALL questions.

1. Who is an Assessee?

WS IS gD &N WGUIT GTETLIGUIT WImT?

2.  What is casual income?
SMSTITENT GU(THLOTEITLD GTEINM 6D GTEIE ?
3. Define Income.

[ -3 .
QUBLOTETLD — 6lleTsEs.

4. Who is a Resident?
&5 U6 (BLILIGUIT GTETLIGUIT wimiT?
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10.

11}

What is city compensatory allowance?
B&T FL_(h Lilg GTEIMTE 6Temen?
Explain perquisites.
Guoe eupLomanid eflanéEs.
What is Municipal Value?
B&TTLEl iy erammmed eremmen?
What is Gross Annual Value?
angg e S GTemmed eTemen?
What do you mean by business?
euanflad eranmmed eremen?
Define : Profession.
“ané]e’b” - oflen&Gs.
SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

(a) How will you arrive at the total income of an
Asessess? :

auffl wﬁulﬁl;tq_rj)@rﬂd_mrﬂeh Grgs LTSS
GreueUTM) SanTdhd (Heumus?

Or
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12.

13.

(b)

(a)

(b)

(a)

Mr. Logesh, an England citizen comes to
India for the first time in the last 25 years on
June 15, 2016. On October 20, 2016 he
leaves India for Japan. Compute his
residential status.

8. ConGaey Qridleonbg Ures, Qbdlwuraines
s pepwurs 25 e ks sllgg g6 15,
2016 & eubsmr. &CLmur 20, 2016 & eurm
@ndwrenes 69 QeuaflCuifl gisuimer Geemp.
S{eU(HEnLW G uilmLulbneEflu Blaneenw
saTsS (H6.

State the incomes which do not form part of
Total Income.

Qurss eumBLIaTEH® ETHOSHS 6uHDTETEISET
Careuglavenay crammiens aﬁlmé*,@'.

Or
Explain the scope of Total Income.

Qs euBLTaTSS 6 eTaEn e LI 65l 6méE5.

Mr ‘C’ is entitled to a basic salary of
Rs. 5,000 p.m. and dearness allowance of
Rs. 1,000 per month. 40% of which part of
retirement benefits. He is entitled to HRA of
Rs. 2,000 p.m. and pays Rs. 1,500 p,m. as
rent for a house in Chennai. Compute the
taxable HRA.
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(b)

. ‘C eramucuflen g iuienL sbLiemd ¢p. 5,000
p.m. wHmd uUEpsiug ;. 1,000 p.m.
(40% ey Lweafléd SiLmidlweTerg)) SjeumenL
IL(® eumiens Ul wrgd ep 2,000 wHmD
e5. 1,500 wors eum_answing Sieu Geenaenuie
Qegsgsdmmr. Seumamw aflsE Ul i@

QUMTLen&G Lilgeni Harédl (hs.
Or

Mr. Y furnishes the following particulars :

Salary per month — Rs. 20,000. He is .

furnished
accommodation at Qhennai (Population more
than 25 lakhs) Fair rental value is 1,500

provided with rent-free

p.m. Cost of furniture Rs. 10,000. Calculate

the value of Rent free Accommodation.

A Y eranuieuflen Superer eflourmismer @aigs)
aurL_ens @eoor @@l eusdaw sanéss (s,
20,000  <leumsE

arLms@aoor QmuaL  eusd Ceereeruie

IOTg  SOUETD - (.

SaflGsiulLg (wéser Qgmens 25 QoL s550@E
Guéd) Hlwumuwrer eumes wguy . 1,500.

WrgeTeUrL m&6T iL&sw . 10,000.
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14.

(a) Compute Net Annual Value in the following
case :

P.a. Rs.
Municipal rental value 96,000
Fair rental value 1,00,000
Municipal Taxes at 10% (50% paid by

tenant)
Rent received under rent 5,000 p.m.
Rent received 47,000 p.a.

Blay e wHiemu &_Q.geimn efleursans eneusg

SETEE (H6. ; :

€.

- BaITLSl eumL_ang SILLY 96,000
Blwmuworer eur_ang iy 1,00,000
parrl &l eufl 10% (50%

G\l mueuT
Qeausgdmm)
QUTL.6N& (LPMEIE (Perm FLL_LiLllg 5. 5,000
aurLang QupuiulL g Wrdliorsd
QUTLang QUDHDEI (b LaTeHE . 47,000
Or
(b) Enumerate the incomes from house property

which are wholly exempt from Tax.
sLLsdmhg  Newssalésiiul L
Q&mrgg) QUHLTETRISET WTeneu?
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15. (a) From the following P and L account of a SECTION C — (3 x 10 = 30 marks) .
' business man find out his business income.

Rs. Rai " : Answer any THREE questions.
Salary 35,000 Gross profit  2,50,000 ;
16. Whois a “Pe X Inco ?

Office expense 40,000 House rent 1,50,000 s S SR B
Depreciation 10,000 Capital gains 2,00,000 ‘ @bdw eupwrer eufl sl 1961ler Ly “safpur”
Donation 8,000 ; | GTGUTLIGUIT WITHT? ‘

{
Net profit 5,17,000 {

Nl e st R . 17. Compute Gross Total Income of Mr. X if he is
6,00,000 6,00,000 | ,

£Cp Qsm@sslul (GeTer oy BUL &/ @eusg) | (a) Resident

Qarain() euentls @TUS®S 5“‘”‘5‘@@5'_ ' (b) Not ordinarily Resident
o ©
i temb 35,000 Gumss et 2,50,000 1§ (¢)  Non-Resident.
<96 Q&wm 4O»OQO S @ eurews  1,50,000 (1) Salary received in India — Rs. 60,000
Gguimenid 10,000 @pgelar ewru  2,00,000 ‘ ;
e 8.000 (1) Income earned in India received in
London — Rs. 7,000
Bl&r UL 510 000
6.00.000 6.00.000 i A (ii1) Income from business in Iran, but
s — controlled and managed from India —
o 4 Rs. 13,000 |
(b) What are admissible deductions 'under J _ (iv) Income from house property in Nepal —
profits and gains of business or profession? Rs. 5,000.

aaflsd wHpD CsThd eTibL aiLTESS

DI EEILLL SifleiseT Lrmal? (V). Income of 2006 — 2007 in USA, now

brought in India — Rs . 10,000.
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8. X eremueufien Quorss eumoraisms
(=) @yllguuer

(<) EyUl@mLUaT T  eaupssndn  Hlaauid
&g udleSl pLiLieum

(@) Gyumuubpeur erearm Hlanauie samsd(Hs.

() @sduredé spuetd Quplulig -
. 60,000

(i) @pdwureler  sbuTHSsE — waTLafled
Qupliul L g - ep. 7,000

(i) mprafle  euaflsd  aped QumuuLL
@bdwreiler
sL(Huu®ssuucL g — . 13,000

auBLOTETD 2L, ETE)
(iv) GCpumefld i@ GersdHer Qupiul
au(pLomeid — ep. 5,000
vy USA & 2006 - 2007 en eugmwmenid,
@bdwureysEe  Geram@eguulLg -

em. 10,000
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18.

Compute Salary Income from the following :

Salary — Rs. 60,00_0 (after deduction of Income tax
and RPF).

Income tax deducted at source — Rs. 6,000
RPF deducted —Rs. 6,000

Dearness allowance — 20% of salary
Bonus — Rs. 10,0.00

Education allowance — Rs. 500 p.m. (Employee has

~ one child)

Club bill paid by employer on behalf of employee —
Rs. 1,000

House rent allowance @ Rs. 500 p.m. (Rent paid
for house Rs. 800 p.m.) and house in Chennai.

&Cp  Qar@ssuul(erer  efeurmseman mm(@g
sUEH(BHE QUBLTATSMmS SaTés[Hs.

slbuerid — ep. 60,000 (aufl GegusHw 9pE wpHmio RPF
Qegusdu Bps)

aumreneufl egusduig) — . 6,000
omgsfasiiul L Cape B Qeqisdug) — . 6,000

L@ — 20% sbuetsden Bs)
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19:

Gumewev — ¢m. 10,000

soelliug — 5. 500 p.m. (Qsmporelss @
GRE®5)

Qgmemaflufen ety Yeovee pgemafl Qegusdluig —
€. 1,QOO

i@ eurLans Uiy €. 500 p.m. (eurLens PTG
Qsqusdug 5. 800 wwmgd) Hgod 66
Qeeenaruiigererg))

Calculate income from house property from the
following information (75% is let out and 25% is
self-occupied). The other details are as follows :
Municipal rental value — Rs. 50,000

Fair rental value — Rs. 60,000

Actual rent for whole house — Rs. 55,000

Municipal tax — Rs. 4,000

Interest on borrowed capital — Rs. 10,000
10 S.No. 1352

Sgerer eflauptisaan aeugg 6 g.ellBHg GupLILILL
QUHLTESMS sansd (s (75% eum mss@n 25%
Qemps 2 LGUTESEHE D) :
B&ITLS aurLes gy — 5. 50,000

Blwrwwrer eures iy — . 60,000

o GRTEDLD QUL & (Lp(L G ig D& — ep. 55,000

wpanfue eufl — ¢p. 4,000

sLa (s WBgrar aul_ig — ¢5.10,000

20. From the following details of Dr. Kumar, calculate
his Professional Income.
Receipts Rs. Payments Rs.
To opening balance 10,000 By consulting
To Consultation fees 50,000 room expense 12,000
To salary from By X ray.
Medical College 6,000 machine - 45,000
To Interest from Bank 12,000 By Car
To Dividend 1,200 expenses 6,000

To Loan from Bank 30,000 By LIC premium 12,000

By Income tax 20,000

By house hold

expenses ; 12,000

By Closing

balance 2,200
1,09,200 ; 1,09,200

11 S.No. 1352



